M10x30 - éx
M12x30 - 4x
M12x70 - 2x (A)
M12x90 - 2x (1)
M12x19 - 3x (C)
M12x21 - 1x (C)

\,

MI12-6x (A, 1)

MI2 - 4x (C)

PP10 - 4x
PP12 - 4x (A I) P10 - éx nit - 2x
PP12- éx (C)

MI12x19 - 3x
MI12x21 - 1x

DETAIL
T
o~ |

R

\ \

S _761C

M12x30 (10.9)

| 110 Nm!

M10x30

IC 325122

M12x70 - 2x

JEEP CHEROKEE
Kéd: JOI35(A1C) 24.9. 2021




